[109 & B fpksne 3np g1 £H % §
e LYy

At (4F) 25 B 1

2 A

PR AV I T A RE R

4
Bs— 3%

* ‘mz\]

(E;u:;u)
sl
1 - 5 p THE | 7 A
¥l ] ¢ #
— JrzE &
5 | 20 | 01 &%L—T"i A RAGUS A IR R B ER I 00 600 31,343
) FoF B A BEEE X PR ’ ’
—ﬁ;f\*fﬁi » .
B3R E TS N
56 | 90 | O1 | 2% # -— 4x# fﬁ o * ,I;)E R 550,000 546,191
A2 RK i
—
N :FI“K FH D AHEEE 2R T Bk
56 | 90 | O1 | 2% #-— 4x# i 64,000 64,000
A2 RK ‘ -
_ﬁ;}ffﬂk
56| 90 | OL | sk #-— iix | RO M S AAR%-22 2FPRE - 90,000 90,000
A2 XA
- ERz s g e e s L b e
: = 9 N @A g
| 90 | 00|k e |5 20 SRR T EEEAEEE A0 100000 | 100000
%iﬂ;{% e NS E
—ﬁit*%K T 2 5 UL e ,
: = B SRR - =]
56 | 90| 0L | 2 i -— 4z i;tu_\ia%@ 7 itk E-35f-2 LED §a 36,000 32,000
AEEHE CoEnE
—&ﬁ%a RAE - AARGEBHRT ~ < R
5 | 0 | 01 | xH-— 4 | fr2 ~A5"EL (MR 2 524 TE A E# P )4 | 146,000 145,997
AZ XA FRE(Z B drh AT R MR R )R -
_ﬁ;}ffﬁﬁ
P By 2 AAHROE-E L TR MR A R
5% | 90 | 01 VL:'% (_g‘__p thl ;F”’n(g &F—r Efl) OffICe ﬁ}\féﬁ*ﬁtgi_‘f_) R 206,000 205,541
A2 XA
_ﬁ;}ffﬁﬁ
56 | 90 | OL | 2% #-— ki | 25 S AR S-S pE o 10,000 10,000
A2 XA
—
SR e R < KRR LA L
56 | 90 | OL | 3k #-— ek |, 21,000 20,000
AZ KA s
— Ar3:x R
AL TR e TN ST S T
56 | 90 | O1 | % # -— 4z _ﬂ( 2R - 38,000 37,800
AZ KA i -
—ﬁ"L*I};ii BAECEFIRRT 2 iR g
56 | 90 | O | sk #-— 4kt | ek & (7 2rats ~ 445~ = Neflos v & 54,000 54,000
Az XA RE LR )Y o
Tt E [ BAKC ARURK-L L OFEK RE T2
R N T | X 50,000 50,000




B . )
P 7?\—%3{ "?,\g{
w70 | & #
AL S 53 AP S B FRHT ~ 2 bR GEY B Al
5 | 05 | o | T TEAR SIS S RBITHT » @ kR 100,000 | 85446
B ER FEEEN
e o AT E AR A2 EFERRY v Lo BEAEHRE o
5 | 05 | op | ¥ ITEAT | REE D EBIRHT 2RI 2 F 00000 | 85446
B ER FERZEEDL
B ET | RAN AW RT ¢ KRR L LR
BNBI 2] ey | mrragwinag. 90,000 73,239
f rerap | RO ERAGUEE 2 CRERRL - R
oo BN RE T PES EE L bz % p
| 05| 0|y oy’ |2 AFLAD EE Y L OARERA| 133000 | 141000
_E_ o
T e g I 2R > (LR ARTE B L f
- T%zé #’t' AL Lok E-ARTE LA E AR 18,000 10,000
W78 PEY o
TFP '4\5'1"%52‘- "V“?!;i% =+ ﬁ]f]?\’?i? A TL 7“&'%@:@31@&%
B 05| 0|y | s (5 1k - 97,500 97,200
T TEAR | e S AFFRT v KRR AGL
%0600y n s (s - 100,000 | 99,000
FoA TR | SRR BER T ¢ K ER L A )
%06 0Ly n s (s - 96,500 96,500
ALFCE AL | T RAXEE AR FF R Fi-2
1 i “r e = ’ 2’ 2’
| @) o L5 SN T 0,000 0,000
‘;L_/‘»:Ol-‘;l'_ _T__[%-—‘,t 2 ’%"; - N ﬁ; ‘/;"}':’i-)/‘
5 | op | g | ISR RS AAGEE BIR Y EFR L 50000 30,000
€ 4511 TAFE E&
£ 3t 2,250,000 | 2,124,703




